The test paper will be of four sections

SECTION-1  : INTELLIGENCE & CRITICAL REASONING )
(25 Questions)
SECTION -1 : DATA ANALYSIS & SUFFICIENCY e oy
(25 Questions) :
SECTION - Il : LANGUAGE COMPREHENSION (ENGLISH & HINDI) } Max. Marks : 100
(25 Questions)
SECTION-IV : MATHEMATICAL SKILLS
(25 Questions) J

Note : Each question is of one mark. Wrong answers carry negative marks (-% for every

wrong answer)

Section - I : Intelligence & Critical Reasoning

Verbal Reasoning: Analogies, classifications, series completion, logical sequence of words.
Non-Verbal Reasoning: Figure series, figure analogy and classification.

Logical Reasoning: Syllogisms, deductions, conclusions from passages, assertion and reason.
Data Sufficiency: Numerical data analysis requiring minimal calculation.

Section - Il : Data Analysis & Sufficiency

a.

Basic Statistical Concepts

Mean, Median, Mode, Range, Variance, Standard Deviation, Identifying trends and patterns in
numerical data

Data Interpretation

Reading and interpreting tables, bar graphs, line charts, pie charts, Simplified case-based data
analysis (caselets), Applying arithmetic to extract insights (ratios, percentages, etc.)

Probability (Basic Level), Fundamental definitions (events, outcomes, basic rules), Simple problems
on probability and expected value

Data Sufficiency

Determining whether information provided is enough to solve a given problem, Logical evaluation
of multiple statements or pieces of data, Avoiding pitfalls from incomplete or irrelevant data
Analytical Reasoning with Data

Identifying patterns and logical sequences in datasets, recognizing correlation vs. causation (at a
foundational level), Making decisions under uncertain or limited data conditions

Section - Il : Language Comprehension (English and Hindi)
English Language:

Grammar and Usage: Basics of parts of speech, tenses, voice, articles, prepositions,
conjunctions, sentence structure, verb patterns.

Vocabulary: Synonyms, antonyms, idioms, phrases, and word usage.

Reading Comprehension: Simplified passages with questions on understanding, main idea,
inferences, and vocabulary in context.

Paragraph Jumbles: Sentences of a small paragraph to be rearranged into a coherent order.




Sentence Correction/Improvement: Identifying grammatical errors and improving
sentences.

Section - IV : Mathematical Skills:

Arithmetic: Numbers, simplification, average, ratio and proportion, percentage, profit and loss.
Algebra: Basic equations, inequalities.

Geometry: Lines, angles, triangles, rectangles, squares, and circles.

Data Interpretation: Graphs, charts, and tables — simple interpretation with basic arithmetic.

Modern Mathematics: Permutations and combinations, probability (basic level).
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Sample Questions

Section - I : Intelligence & Critical Reasoning

=

Which of the following is the next in the series: 2, 6, 14, 30, 62 ?
frefafed Y@ d SFen TSR F e : 2,6, 14,30,62 7

(A) 126 (B) 128 (C) 124 (D) 130

CHOOSE THE ODD ONE OUT :

ot 1 2 foro v 5

(A) Triangle ﬁ!‘ﬂﬁ (B) Square ol (C) Circle g (D) Rectangle 3™

If ' MOUSE!' is coded as 'PRXVH', then 'KEYBOARD' is coded as:

7fs MOUSE' %! 'PRXVH' % %4 # #ifeq foan s &, @ 'KEYBOARD' %1 %4 ifed fean smam ?
(A) NHBZDUHG (B) KFAZCPCE (C) KFAUJCRC (D) KFAWDOCF

Rahul looks towards South. Turning to the right, he starts walking. After a while, he turns to the
right again and walks a bit more. He then turns to the left and walks. Finally, he turns to the right
one more time and starts walking. In which direction is he facing now?

e < 1 3R 3@ e ¥ | T SR I, TE IO Y I ¢ | HB R AR, T R A SR ®
3R drgT 3 =reran € | TRt o8 o1 3R qgar § SiR wern € | 37 |, 9% U R S18 $IR qSdl & SR =er 1o
FA ¥ | o1 o fra fn d g AR wi €2

(A) North 3R (B) South &fétor () East T& (D) West af¥=m

If it is possible to make only one meaningful English word with the second, the third, the fifth and
the sixth letters of the word THERAPIST', which of the following will be the second letter of that
word? The letters are 'H', 'E', 'R', 'P".

Ifs THERAPIST' ¥/ % g&, TR, ieidl iR &3 31ar & T19 harel s S1eiyui STt v &M 997
@ Frefafea 3 2 39 v 1590 AR BHE W AmM 2 H&W T 'H, 'E, R, P.

(A)E B H ©P D)R

What is the minimum number of colors required to paint all the sides of a cube so that no two
adjacent sides have the same color?

T TS T 9 ) e H B forg =gaaw fhaa T @1 SavEshal eidt e alieh i ol 9 gL Th
dWHAR?

(A) 2 (B) 3 © 4 (D) &

If all roses are flowers and all flowers are plants, which of the following is true?
(A) All roses are plants (B) Some roses are not flowers

(C) No roses are plants (D) Some plants are roses

Afe Feft e et € iR goft e 0 ¥, o Frefafen § S e e 2

(A) Tsht e A ¥ (B) 8 TS FE T &

(C) T TeTa e T © (D) %@ 11 TeTa €

In a family of six members, A is the father of B.C is the son of B. D is the daughter of A. E is the
wife of B. How is E related to C ?

(A) Mother (B) Aunt (C) Grandmother (D) Sister
wReR i se o 1 A, BFI @ 81 C, BHI 91D, AR AR E,BR Uil €| ESARCH
T T ?

(a) = (B) 3t () = (D) =&



10.

All cats are animals. All animals are mammals. Therefore.

(A) All cats are mammals (B) Some cats are mammals
(C) No cats are mammals (D) All mammals are cats
it fafeeral smer & | 9t smer w=u €)1 safe,

(A) Teit fafeeral @ § (B) T fafeemal wurt &
(C) =1 farfeeral wmem 78 & (D) |t Ry fafeerat &

Pointing to a photograph, Raghav said, "She is the daughter of the only son of my mother." How
is the girl in the photograph related to Raghav?

(A) Sister (B) Mother (C) Niece (D) Daughter

T TR 1 3R 39N FTd §Y, T 3 e, 98 7 6 & UmErs 9 w1 A2 ¥ 1 Al 39 St @ I
YR FEAYR?

(A) =& (B) |f (C) s (D) st

Section - Il : Data Analysis & Sufficiency

B

A dataset is heavily skewed (with extreme high values). Which measure of central tendency is
generally most appropriate to represent this data accurately?

I ot sitenei o1 wE steafess fowet (@9) & (SR wga SR WA ), A ard Yot 1 gl 37ge 7
SHIFET W] ST 2

(A) Mean 37 (B) Median 94 (C) Mode 5gTH (D) Range TIH

A fair die is rolled twice. What is the probability that the sum of the two rolls is exactly 7 ?

T WS 1 31 91 e ST & | S Sl 1 A1 3eh 7 3T 1 Jiigeha feha & 2

(A) 1/6 B)1/5 © 1/3 (D) 1/12

Use the following table for Questions 3 and 4 (Table will be given) :

Frreaferfea arolt & SmuR W 999 3 3R 4 5 F (Table will be given) :

If you need to find the total salary paid per month to the IT department, which calculation should
you perform?

AT STTYeh! STTE FIATT 2 et e Fa= 21 TaT ST €, A 3 H oA S9gE 2r ?

(A) 25 x 30,000 (B) 15 + 50,000 (O) 25 x 50,000 (D) 25 + 50,000

Based on the table, which department has the highest total mothly salary payout?
ST AR & SR R, R fasm =i e wifas 30 g e st §2

(A) Sales fawa (B) Marketing faqom  (C) IT st (D) HR HT-a SHT9H

A classroom has a certain number of students. How many students scored above 90% in the exam?
T Fa | fare frem farnedf 90% 3 sifyes o ra & €2

Statement 1: The class average score was 75%.

FGT 1 : HE H A 3F 75% T

Statement 2: 30% of the students scored below 50%.

FYT 2 : 30% forenfefai & 50% & & 37 1

Which of the following is correct?

Frfefea 3§ & =8 a1 faseq w& €2

(A) Statement 1 alone is sufficient. (B) Statement 2 alone is sufficient.
Hae HYH 1 93w ¥ e HYF 2 TG |

(C) Both statements together are sufficient. (D) Neither statement is sufficient.
T e T vt §) T A A A off oA g TE B



6. A study shows that in a set of 100 participants who regularly exercise, 80% reported reduced stress
levels. Which of the following conclusions would be most appropriate?

T a1 100 TR GRS R g fien T S i S s ¥ g6 @ 80% 3 e T A et
1 gEn | e A | S @ e gl g §2
(A) Exercising definitely causes reduced stress in all individuals.
=T fafvea &9 @ 9 &l 8§ 779 F9 S e
(B) There is a strong correlation between regular exercise and reduced stress among these participants.
=1 whasnfir # frafia = i o 3 w9 S &e yod geeay
(C) Lack of exercise is the sole cause of high stress in everyone.
ST 7 AT B B A B o A T THAT FHRO |
(D) Reduced stress has no connection to exercise.
T T ! 1 A | B oo T8l ©

7. What is the average of the following data set : 12, 15, 19, 23, 26, 30 ?
frfafaa 221 9 =1 3irEd &1 8 : 12, 15, 19, 23, 26, 302

(A) 20 (B) 21 (€ 22 D) 23
8. The ratio of boys to girls in a class is 3:4. If there are 84 students in total, how many girls are there
in the class?
a7 1 e SR TfRdl 1 ST 3:4 ¥ | AR et o Te 84 ¥, O Fan H fererht sfRaAl &2
(A) 32 (B) 36 (C) 48 (D) 56
9. A product's price increased from Rs.500 to Rs.600 over 6 months. What is the percentage increase
in the price?
T I FHIHG 6 FEH H £.500 | %.600 B 7 | FrAa F fra wioww =1 gfe g ?
(A) 10% (B) 15% (©) 20% (D) 25%

10. Data Sufficiency (Statement 1 & Statement 2)
- Statement 1 : The average monthly expenditure of a household is Rs.25,00
- Statement 2 : The household's annual income is Rs.5,00,000.
Question : Is the information sufficient to determine whether the household is saving more than
20% of its income? '
(A) Yes, both statements together are sufficients
(B) Yes, either statement is sufficient
(C) No, both statements are insufficient
(D) No, only Statement 2 is sufficient
21 vatwrar (aeed 1 3R 9% 2)
TS 1 : T Se] T A €.25,000 Wi AE T
oI 2 + 3 W] 1 SIS 3 £.5,00,000 T
Qv+ AR T Tt & P e frg f sRe st a1 o 20% & 31fus a=a H @ 2
(A) &, 2 erredi = et TaTa §
(B) &, @1 it Tk A< &
(C) &l , S arerTeA 7T €
(D) =, Baet TaTeA 2 TATE €




Section - IIl : Language Comprehension (English)

1.  Choose the correct form of verb for the following sentence: "If I __ you, I :

(A) was (B) were (C) am (D) be
2. Identify the synonym of the word "benevolent" :

(A) Malevolent (B) Kind (C) Harsh (D) Unkind
3.  Which of the following is an antonym for "augment"? :

(A) Increase (B) Intensify (C) Reduce (D) Expand
4.  Select the correctly punctuated sentence: :

“(A) Its time to go to the market. (B) Its time, to go to the market.

(C) It's time to go to the market. (D) It's time, to go to the market.
5.  What is the main idea of a passage called ?

(A) Theme (B) Moral (C) Plot (D) Subject
6.  Rearrange the following jumbled words to make a meaningful sentence: "is/education/important/

success/for"

(A) Education is important for success. (B) Is important education for success.
(C) Success is important for education. (D) For success education is important.

7.  Choose the word that is most similar in meaning to "Eloquent".

(A) Silent (B) Fluent (C) Stubborn (D) Confused
8.  Select the correctly structured sentence.

(A) She have a book (B) She has a book

(C) She had a book (D) She having a book
9. Complete the sentence.

"The cake....................delicious."

(A) smells (B) smell (C) smelled (D) smelling

10. Find the error in the sentences.
"The manager along with his team are working hard."
(A) The (B) along (C) are (D) working

Section - Il : Language Comprehension (Hindi)
1. ' Tasffer’ = weét qataarh e R 2

(A) FTR ®) =R (C) =TT (D) TrEst
2. ‘snsE’ @ faam v F R ?

(&) frrer (B) T (C) frafem (D) wfem
3. Trafafen 3§ & #F w1 geE agd e e’ @ o1 3 ygE e g ?

(A) 191 9T BT &R HS (B) BT 7T 1 SR F41

(C) T &t S (D) T BTt BT
4. 'Sy’ vieg | w1 Y Prear €2

(A) T2 = TS S aTe 9 (B) Y152 % 3T S[S AT 9FT

© v HI A 9T | (D) ¥1s3 < = & g e Hr



5. T A W 9 A S i # seR wE R ?

(A) T2 T ST =TT (B) 2 Fohet ST e &
(C) T3 Tt I =EY (D) T2 THE ST ISl §

6. Frefafea § } fredt v v & forg fov gfe g W s o= foen st as ¢
(A) first = ST &t 5o 3 (B) foramera & a1 G221 & AT S76eA &
(C) T =1 TEY # Smfra e (D) first = 18 et WX o

7. “‘YHTEE" IS 1 GHMIEE I g |
(A) iRT (B) v (© i (D) &

8. HEl 9 1 =T H | -

(A) % T T R (B) 7 THA & &
(C) o1& THa S & (D) 3 WA S @ &

9. IR THI
T B e S 1
(A) e (B) 371 (C) T (D) =+t

10. 'R Y1 1 HHAIE ¥ A |
(A) F= (B)T&T (©) fa= (D) T

Section - IV : Mathematical Skills:

A

What is the average of the first 50 natural numbers?

Yeal 50 Wi e SEA13 1 iha F R ?

(A) 25 (B) 25.5 (©) 50 (D) 49.5

If the price of an item is increased by 20%, by what percentage must it be reduced to return to its
original price?

A foet o =1 a8 20% 1 gfig =1 Sl €, 91 S8 o1 Jod W arvd @M & fore fara gfoema =t st
FHEAT BRI 2

(A) 16.67% (B) 18% (C) 20% (D) 15%

What is the area of a circle with a radius of 7 cm? (Use ©t = 3.14)

T T 1 ARl 1 B et e 7 FH ¥2 (1= 3.14 FRE H)

(A) 153.86 cm? (B) 154 cm? (C) 150 cm? (D) 146 cm?

Solve the equation: 3x + 5 = 14

T B Y : 3x + 5= 14

Ax=3 B)x=4 COx=5 D)x=6

A bag contains 2 red, 3 green and 2 blue balls. What is the probability of drawing a green ball?
T T 2 o, 3 R SR 2 e i &1 R T F g F AT R 2

(A) 2/7 B)3/7 ©) 1/2 (D) 2/5

If the sum of the interior angles of a polygon is 1080 degrees, how many sides does the polygon
have? :
Ife fareht agys & stiafes o %1 ARt 1080 fETft ¥, T 39 sigys # feerit S &t ?
A)8 B)7 6 D)9



10.

What is the value of 15 x 12 + 10 + 5 ?

15 x 12 + 10 + 5 &1 91 &1 8 ?

(A) 185 (B) 185.5 (C) 190 (D) 195

If a shopkeeper sells an article for Rs.120 at a profit of 20%, what is the cost price of the article?
M T THMIR ¥.120 H T IR 9901 ¢ 3R 39 T 20% 1 19 W< F:3d1 &, T 9% 1 AN 5903 FJ1
T2

(A) Rs.100 (B) Rs.110 (C) Rs.130 (D) Rs.140

A person gets 80% marks in an exam. If the total marks are 500, how many marks did the perosn
obtain?

T AR TET # 80% 37k UK a1 ¢ | AfE e 31k 500 ¥, A 39 =l A fopaw sk wre fepw 2
(A) Rs.400 (B) Rs.420 (C) Rs.440 (D) Rs.480

A can complete a task in 5 days and B can complete it in 10 days. How many days will both take
to finish the task working together?

T i 5 o U T € 3R B 38 10 T # qu AR ek 11 At SHi faerem s L, A @
e i 8 Qw=in ?

(A) 3 days (3 &)  (B) 2 days (2 f&) (C) 4 days (4 fe7) (D) 1 day (1 f&)

Answer Key

Section - | Intelligence & Critical Reasoning

1.A 20" " 3A 4.A D 6B T.A 8A -3A 10-A

Section - Il Data Analysis & Sufficiency

1.B 2o8 - 8368 4B 5D 6B TiA T8LE 190€. 3104

Section - Ill Language Comprehension (English & Hindi)
English Language Objective

1.B 2B 3L 4.C SA &GACTB BB -O0n 10.€

Hindi Language Objective

1.D 2.C. .3D: 4B H5A. 6B 7B 8A 9C-10.C

Section - IV Mathematical Skills

1.B 22A 3.A 4A 5B 6.A 7.B 8A 9A 10A



